## **MEMORANDUM**

TO:

Mayor Blad and City Council

FROM:

Jared Johnson, City Attorney

DATE:

July 7, 2025

RE:

PPD Firearm and Firearm Accessories Trade and Purchase

I have reviewed the documentation related to the trade in and purchase of firearms and firearm accessories for use by the Pocatello Police Department. I have no legal concerns with the request. Therefore, I would recommend that Council authorize the Mayor's signature on any documents related to this request.

Please contact me with any questions or concerns.

## **Executive Summary**

Date:

June 23, 2025

Request:

Request to trade-in Police Department Patrol Rifles and older police equipment

to Javelin Arms (A Law Enforcement Dealer) towards the purchase or new

department firearms and accessories.

From:

Captain Bill Collins, Pocatello Police Department

The Pocatello Police Department requests permission to trade-in used Patrol Rifles, Precision Rifles and used suppressors to Javelin Arms.

Staff are asking for the following:

Accept the quote from Javelin Arms (A Law Enforcement Dealer) for the following firearms to be used by members of the Pocatello Police Department:

- (a) Trade-in 9 old PWS SBR Patrol Rifles, 1 old Bushmaster Patrol Rifle, 2 old Remington 700 Precision Rifles, 41 old Rebel suppressors and 1 old Aimpoint Heavy Machinegun optic.
- (b) Purchase 10 Springfield Saint Victor SBR's, 10 Silencerco Saker Suppressors, 12 Aimpoint Pro Patrol Rifle Optics.

The purchase price of a new Springfield Saint is \$929.00 each. Javelin Arms will allow a \$300.00 trade in value for each AR-15 Patrol Rifle traded and \$350.00 for each Remington traded. The City will be able to obtain the new firearms at a significantly lower price because of the trade-in. The total cost for the 10 new Patrol Rifles is \$9290.00. The trade in value for the 10 used Patrol Rifles is \$3000.00 and the total cost to the department is \$6290.00. Due to the trade in value, our department only pays \$629.00 per gun, which is within the amount that is budgeted for each year by the police department.

Javelin Arms will give \$50.00 for our old Rebel Suppressors to use towards the purchase of 10 Silencerco Saker Suppressors. The new suppressors are \$460.00 each. With trade will cost the department \$2550.00 or \$255.00 each.

The old Aimpoint Heavy Machinegun optic and the trade in allowance from the Remington Rifles will go towards purchasing new optics for the Patrol Rifles and a new spotting scope for the department.

The police department has a rotational plan for all Patrol Rifles to be traded out approximately every 10 - 15 years. This helps to ensure that each officer has a reliable duty weapon for their use. This also saves the department money for repairs and new parts that each weapon will eventually need.

Funds are available in the Police Department's Fiscal Year 2025 budget.





## Javelin Arms LLC

611 N Broadway St. Blackfoot, ID 83221 Phone: (208) 403-5150 info@javelinarms.com https://www.javelinarms.com Invoice #: PPD Misc. Quote
Invoice Date: 6/19/2025

Pocatello Police Department

Attention: Bill Collins

911 N 7TH AVE Pocatello, ID 83201 (208)234-6121 bcollins@pocatello.us

ltem	Description	Cally	Price	Amount
Holosun SCS, MOS, L.E. (SCS-MOS-GR- LEM)	Green Multi-Reticle, Titanium, Solar Charging Glock MOS Pistol Cut, Law Enforcement Model	21.00	\$315.00	\$6,615.00
Springfield Armory Saint Victor SBR, 5.56, Black (STV9115556B) SilencerCo	Serial #: TBD	10.00	\$929.00	\$9,290.00
Saker 556K Law	Saker 556K Body Only, No Mount	10,00	\$395.00	\$3,950.00
Enforcement (SU2256LE) SilencerCo Charlie Direct	Direct thread mount for SilencerCo	40.00	#05.00	\$650,00
Thread Mount, 1/2"x28	suppressors with Charlie thread patterns.	10.00	\$65.00	φου.υυ
(AC4740)				
Aimpoint PRO, Black, QRP2 Mount (12841)	2 MOA dot size. 30,000 hours (over 3 years) of constant operation. 4 night vision compatible settings and 6 daylight settings. Weight 7.8 oz / 220 g (sight only). Submersible to 150 feet (45 meters). Front lens opening is threaded for addition of killFlash® anti-reflective device. INCLUDES: QRP2 Mount & Spacer, Filp-Up lens covers, DL1/3N battery, Allen key.	12.00	\$437.36	\$5,248.32
Streamlight Protac Rail Mount HP-X PRO Long Gun Light (89015)	Get extreme beam reach with 105,000 candela! The multi-fuel ProTac® Rail Mount HP-X Pro shines far and bright, penetrating smoke, fog, and photonic barriers. Its Jack-Cap® tail cap switch offers operational switch redundancy with both push-button operation or remote pressure switch operation. ProTac Rail Mount HP-X Pro - System - Includes mounting hardware, M-LOK mount, momentary switch and (2) CR123A batteries - Black.	11.00	\$153.00	\$1,683.00

Duty Rifle Trade Credit	PWS MK1 SBR	9.00	(\$300.00)	(\$2,700.00)
Duty Rifle Trade Credit	Bushmaster XM15-E2S Rifle	1.00	(\$300.00)	(\$300.00)
Duty Rifle Trade Credit	Remington 700, 308 Winchester	2.00	(\$350.00)	(\$700.00)
Duty Suppressor Trade Credit	Rebel Alliance 5.56 Suppressor	41.00	(\$50.00)	(\$2,050.00)
Duty Optic Trade Credit	Aimpoint MPS3 Red Dot Optic	1.00	(\$500.00)	(\$500.00)

Subtotal:

\$21,186.32

Total Due:

\$21,186.32

Due Date:

6/19/2025



## Comments

THIS IS A QUOTE. NOT AN INVOICE.